The Minimal Inequality and Conditional Moment Inequality for Nonnegative Conditional

CaiYin Mu, DeCheng Feng, Ruijie JIA

Abstract — In this paper, we give a class of minimal inequality for nonnegative conditional demisubmartingales, and obtain the conditional moment inequality for nonnegative conditional demimartingales by using the conditional Fubini theorem and the conditional Hölder inequality.

Keywords—Conditional demisubmartingale; Conditional moment inequality; Minimal inequality

I. INTRODUCTION

The partial sums sequence of a conditional associated sequence with zero mean is a conditional demimartingales. For any satisfying $E|Z| < \infty$ random variable Z, we E(E(Z | F)) = E(Z) by the property of have expectation. conditional Therefore conditional demimartingales and conditional demisubmartingales defined on the probability space (Ω, A, P) are demimartingales and demisubmartingales on the probability space (Ω, A, P) , respectively, but the converse is not true. Christofides and Hadjikyriakou [2] established some maximal inequalities and related results for conditional demimartingales. Wang and Wang [3] further improved these results, and obtained some maximal inequalities for conditional demi(sub)martingales, minimal inequalities and inequalities for nonnegative conditional moment demimartingales. Xing-Hui Wang [4] established some probability inequalities for conditional demimartingales, such as Doob-type inequalities, maximal inequalities based on concave Young functions and maximal φinequalities for nonnegative conditional demimartingales.

Wang and Hu [5] obtained some maximal ϕ – inequalities and some maximal inequalities based on concave Young functions for conditional demimartingales. In [6], the γ type probability inequalities for conditional demimartingales were obtained by using the maximal and minimal inequalities and a strong law of large numbers. for conditional demimartingales. Some minimal inequalities conditional demimartingales for and nonnegative conditional demimartingales were given in [7]. Wang et al. [8] established Chow-type maximal inequalities for conditional demimartingales and used them to obtain concave Young functions maximal inequalities for conditional demimartingales. In this paper, we obtain a class of minimal inequalities for nonnegative conditional demisubmartingales, and use the conditional Fubini theorem and the conditional Hölder inequality to obtain conditional moment inequalities for conditional demimartingales. Our conclusions extend the related results in [3].

Notation and conventions. In this paper, let

 $\{S_n, n \ge 1\}$ be a sequence of random variables defined on the probability space (Ω, A, P) . Let $E^F X = E[X | F]$, Where F is a sub- σ algebra of A and I(A) be the indicator function of the set A.

II. DEFINITION OF CONDITIONAL DEMIMARTINGALES

Definition 1 Let $\{S_n, n \ge 1\}$ be L^1 a sequence of random variables. Assume that for $1 \le i \le j < \infty$,

$$E^{\mathrm{F}}\left[\left(S_{j}-S_{i}\right)f\left(S_{1},S_{2},\cdots,S_{i}\right)\right]\geq 0 \ a.s.,\ (1.1)$$

for all coordinatewise nondecreasing functions f such that the expectation is defined. Then $\{S_n, n \ge 1\}$ is called a conditional demimartingale. If in addition the function f is assumed to be nonnegative, the sequence $\{S_n, n \ge 1\}$ is called a conditional demisubmartingale.

It is easy to check that for all $i \ge 1$, equation (1.1) is equivalent to

$$E^{\mathrm{F}}\left[\left(S_{i+1}-S_{i}\right)f\left(S_{1},S_{2},\cdots,S_{i}\right)\right]\geq 0 \quad a.s..$$

III. MAIN RESULTS

Lemma $1^{[2]}$ Let $\{S_n, n \ge 1\}$ be a conditional demi(sub)martingale, $g(\cdot)$ a nondecreasing convex function, and $g(S_n) \in L^1$, $n \ge 1$, then the sequence of random variables $\{g(S_n), n \ge 1\}$ is a conditional demisubmartingales.

Theorem 1 Let $\{S_n, n \ge 1\}$ be a nonnegative conditional demisubmartingale and assume that $\{c_i, i \ge 1\}$ is a nondecreasing sequence of F - measurable positive numbers. For any F - measurable random variable $\varepsilon > 0$ a.s., then

$$eP^{\mathsf{F}}\left(\min_{1\leq i\leq n}c_{i}S_{i}\leq e\right)\geq c_{1}E^{\mathsf{F}}S_{1}-c_{n}E^{\mathsf{F}}\left(S_{n}I\left(\min_{1\leq i\leq n}c_{i}S_{i}>e\right)\right) a.s..$$
(1)
Proof. Let $A = \left\{\min_{1\leq i\leq n}c_{i}S_{i}\leq \varepsilon\right\},$

where

 $A_{\mathrm{I}} = \left\{ c_{\mathrm{I}} S_{\mathrm{I}} \leq \varepsilon \right\},\,$

$$\begin{split} A_{i} &= \left\{ c_{k}S_{k} > \varepsilon, \ 1 \leq k \leq i-1, \ c_{i}S_{i} \leq \varepsilon \right\}, \quad 2 \leq i \leq n, \\ \text{and} \qquad A_{i} \cap A_{j} = \emptyset, \ i \neq j. \text{ Note that} \qquad I\left(A_{2}\right) = \\ I\left(A_{2}^{c}\right) - \left(A_{1}^{c}A_{2}^{b}\right) \text{ since } A_{2} \subset A_{1}^{c}. \text{ Thus} \\ eP^{F}\left(A\right) &= e\sum_{i=1}^{n} P^{F}\left(A_{i}\right) \\ &= \sum_{i=1}^{n} E^{F}\left(eI\left(A_{i}\right)\right) \geq \sum_{i=1}^{n} E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right) \\ &= c_{1}E^{F}S_{1} - c_{2}E^{F}\left(S_{1}I\left(A_{1}^{c}\right)\right) + \sum_{i=2}^{n} E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right) \\ &= c_{1}E^{F}S_{1} - c_{2}E^{F}\left(S_{1}I\left(A_{1}^{c}\right)\right) + \sum_{i=2}^{n} E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right) \\ &= c_{1}E^{F}S_{1} - c_{2}E^{F}\left(S_{1}I\left(A_{1}^{c}\right)\right) \\ &+ c_{2}E^{F}\left(S_{2}I\left(A_{2}\right)\right) + \sum_{i=3}^{n} E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right) \\ &= c_{1}E^{F}S_{1} + c_{2}E^{F}\left(\left(S_{2} - S_{1}\right)I\left(A_{1}^{c}\right)\right) \\ &- c_{2}E^{F}\left(S_{2}I\left(A_{1}^{c}A_{2}^{c}\right)\right) + \sum_{i=3}^{n} E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right) \quad a.s.. \end{split}$$

Since $A_1 = \{c_1 S_1 \le \varepsilon\}, A_1^c = \{c_1 S_1 > \varepsilon\}, I(A_1^c)$ is a nondecreasing functional of S_1 . By the definition of conditional demimartingales, we have

$$c_{2}E^{F}\left(\left(S_{2}-S_{1}\right)I\left(A_{1}^{c}\right)\right) \geq 0 \quad a.s..$$
Note that $I\left(A_{3}\right) = I\left(A_{1}^{c}A_{2}^{c}\right) - I\left(A_{1}^{c}A_{2}^{c}A_{3}^{c}\right)$
since $A_{2} \subset A_{1}^{c}$. Thus,
$$eP^{F}\left(A\right) \geq c_{1}E^{F}S_{1} - c_{2}E^{F}\left(S_{2}I\left(A_{1}^{c}A_{2}^{c}\right)\right) + \sum_{i=3}^{n}E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right)$$

$$\geq c_{1}E^{F}S_{1} - c_{3}E^{F}\left(S_{2}I\left(A_{1}^{c}A_{2}^{c}\right)\right) + \sum_{i=3}^{n}E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right)$$

$$= c_{1}E^{F}S_{1} - c_{3}E^{F}\left(S_{2}I\left(A_{1}^{c}A_{2}^{c}\right)\right)$$

$$+ c_{3}E^{F}\left(S_{3}I\left(A_{3}\right)\right) + \sum_{i=4}^{n}E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right)$$

$$= c_{1}E^{F}S_{1} + c_{3}E^{F}\left(\left(S_{3}-S_{2}\right)I\left(A_{1}^{c}A_{2}^{c}\right)\right)$$

$$- c_{3}E^{F}\left(S_{3}I\left(A_{1}^{c}A_{2}^{c}A_{3}^{c}\right)\right) + \sum_{i=4}^{n}E^{F}\left(c_{i}S_{i}I\left(A_{i}\right)\right) a.s..$$

Observe that

 $A_{2}^{\ c} = \{c_{1}S_{1} \leq \varepsilon\} \cup \{c_{2}S_{2} > \varepsilon\} \text{ and } A_{1}^{\ c}A_{2}^{\ c} = \{c_{1}S_{1} > \varepsilon, c_{2}S_{2} > \varepsilon\}$ It is easy to verify that $I(A_{1}^{\ c}A_{2}^{\ c})$ is a componentwise inondecreasing function with respect to $\{S_{1}, S_{2}\}$. By the definition of conditional demimartingales, we have

$$c_{3}E^{\mathrm{F}}\left(\left(S_{3}-S_{2}\right)I\left(A_{1}^{c}A_{2}^{c}\right)\right)\geq 0 \quad a.s..$$

By iterations, we get

$$eP^{\mathsf{F}}(A) \ge c_1 E^{\mathsf{F}} S_1 - c_n E^{\mathsf{F}} \left(S_n I \left(A_1^c A_2^c L A_n^c \right) \right)$$
$$= c_1 E^{\mathsf{F}} S_1 - c_n E^{\mathsf{F}} \left(S_n I \left(\min_{1 \le i \le n} c_i S_i \ge e \right) \right) a.s..$$

The equation (1) is obtained and the proof is over. According to Lemma 1, we have the following corollary.

Corollary 1 Let $\{S_n, n \ge 1\}$ be a nonnegative conditional demimartingale, assume $\{c_i, i \ge 1\}$ is a non-decreasing sequence of F - measurable positive numbers, and $g(\cdot)$ is a non-decreasing convex function. For any F - measurable random variable $\varepsilon > 0$ a.s., then

$$eP^{\mathsf{F}}\left(\min_{1\leq i\leq n}c_{i}g\left(S_{i}\right)\leq e\right)\geq c_{1}E^{\mathsf{F}}g\left(S_{1}\right)-c_{n}E^{\mathsf{F}}\left(g\left(S_{n}\right)I\left(\min_{1\leq i\leq n}c_{i}g\left(S_{i}\right)>e\right)\right)a.s..$$
(2)

Taking $c_k \equiv 1$, $k \ge 1$ and g(x) = x in Corollary 1, we can get the following corollary.

Corollary 2 Let $\{S_n, n \ge 1\}$ be a nonnegative conditional demimartingale. For any F measurable random variable $\varepsilon > 0$ *a.s.*, then

$$eP^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\leq e\right)\geq E^{\mathrm{F}}\left(S_{n}I\left(\min_{1\leq i\leq n}S_{i}\leq e\right)\right) a.s..(3)$$

Corollary 3 Let $\{S_n, n \ge 1\}$ be a nonnegative conditional demisubmartingale. For any F - measurable random variable $\varepsilon > 0$ *a.s.*, then

$$eP^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\leq e\right)\geq E^{\mathrm{F}}\left(S_{n}I\left(\min_{1\leq i\leq n}S_{i}\leq e\right)\right) a.s..$$

Remark 1 Corollary 3 is similar to Theorem 3.3 in [3]. Therefore Theorem 1 in this paper extends Theorem 3.3 in [3].

Theorem 2 let $\{S_n, n \ge 1\}$ be a nonnegative conditional demimartingales and suppose $S_1 \equiv 1$. For any $n \ge 1$, then

$$E^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\right)^{p} \leq \left(\frac{p}{p-1}\right)^{p}E^{\mathrm{F}}\left(S_{n}\right)^{p}a.s., p>1, (4)$$
$$E^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\right) \leq 1 + E^{\mathrm{F}}\left(S_{n}\log\left(S_{n}\right)\right) a.s.. (5)$$

Proof. Obviously, $0 \le \min_{1 \le i \le n} S_i \le S_1 = 1$, according to equation (3), Fubini theorem and Hölder inequality, we have

International Journal of Engineering and Applied Sciences (IJEAS) ISSN: 2394-3661, Volume-9, Issue-11, November 2022

$$E^{F}\left(\min_{1\leq i\leq n}S_{i}\right)^{p} = p\int_{0}^{\infty}x^{p-1}P^{F}\left(\min_{1\leq i\leq n}S_{i}\geq x\right)dx$$

$$= p\int_{0}^{1}x^{p-1}P^{F}\left(\min_{1\leq i\leq n}S_{i}\geq x\right)dx$$

$$= p\int_{0}^{1}x^{p-1}dx - p\int_{0}^{1}x^{p-1}P^{F}\left(\min_{1\leq i\leq n}S_{i}< x\right)dx$$

$$\leq 1 - p\int_{0}^{1}x^{p-2}E^{F}\left(S_{n}I\left(\min_{1\leq i\leq n}S_{i}< x\right)\right)dx$$

$$= 1 - pE^{F}\left[S_{n}\int_{1\leq i\leq n}^{1}x^{p-2}dx\right]$$

$$= 1 - pE^{F}\left[S_{n}\int_{1\leq i\leq n}^{1}x^{p-2}dx\right]$$

$$= 1 - \frac{p}{p-1}E^{F}\left(S_{n}\right) + \frac{p}{p-1}E^{F}\left(S_{n}\left(\min_{1\leq i\leq n}S_{i}\right)^{p-1}\right)$$

$$\leq \frac{p}{p-1}E^{F}\left(S_{n}\left(\min_{1\leq i\leq n}S_{i}\right)^{p-1}\right)$$

$$= \frac{p}{p-1}\left[E^{F}\left(S_{n}\right)^{p}\right]^{\frac{1}{p}}\left[E^{F}\left(\min_{1\leq i\leq n}S_{i}\right)^{p}\right]^{1-\frac{1}{p}}a.s.,$$
Thus

$$\left[E^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\right)^{p}\right]^{\frac{1}{p}} \leq \frac{p}{p-1}\left[E^{\mathrm{F}}\left(S_{n}\right)^{p}\right]^{\frac{1}{p}} a.s.$$

equation (4) follows from Therefore, the above inequality.

Note that

$$\begin{split} E^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\right) &= \int_{0}^{\infty}P^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\geq x\right)dx\\ &= \int_{0}^{1}P^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}\geq x\right)dx\\ &= 1 - \int_{0}^{1}P^{\mathrm{F}}\left(\min_{1\leq i\leq n}S_{i}< x\right)dx\\ &\leq 1 - \int_{0}^{1}\frac{1}{x}E^{\mathrm{F}}\left(S_{n}I\left(\min_{1\leq i\leq n}S_{i}< x\right)\right)dx\\ &= 1 - E^{\mathrm{F}}\left[S_{n}\int_{1\leq i\leq n}^{1}\frac{1}{x}dx\right]\\ &= 1 + E^{\mathrm{F}}\left(S_{n}\log\left(\min_{1\leq i\leq n}S_{i}\right)\right)\\ &\leq 1 + E^{\mathrm{F}}\left(S_{n}\log\left(S_{n}\right)\right)\ a.s.. \end{split}$$

Then equation (5) is obtained and the proof is over.

ACKNOWLEDGEMENT

This work is supported by National Natural Science Foundation of China and Innovation ability improvement project of colleges and universities in Gansu Province and Graduate research self-help project of Northwest Normal University (Grant No. 11861057 and Grant No.2019A-003 and Grant No.2021KYZZ02093).

REFERENCES

- [1] Hadjikyriakou M. Probability and moment inequalities for demi martingales and associated random variables. Nicosia: Departm ent of Mathematics and statistics, University of Cyprus, 2010.
- [2] Christofides T C, Hadjikyriakou M. Conditional demimartingal es and related results. Journal of Mathematical Analysis and Applications, 2013, 398(1):380-391.
- [3] Wang X, Wang X. Some inequalities for conditional demimarti ngales and conditional N-demimartingales. Statistics and Proba bility Letters, 2013, 83(3):700-709.
- [A] Wang X H.The limit theorems of some random sequences an d the inequalities of conditional demimartingales. Hefei: Scho ol of Mathematical Sciences, Anhui University, 2014.
- [5] Wang X, Hu S. On the maximal inequalities for conditional demimartingales. Journal of Mat-hematical Inequalities, 2014, 8(3):545-558.
- [6] Feng D C, Yang Y N, Wen H M. The γ -type probability ine qualities of conditional demimartingale and strong law of larg e numbers. Journal of Sichuan Normal University(Natural Sci ence) 2020, 43(3):321-325.
- [7] Feng D C, Zhang X, Zhou L. A class of minimal inequalities for conditional demimartingales. Acta Mathematicae Applicate Sinica, 2018, 41(002):249-256.
- [8] Wang X, Wang S, Xu C, et al. Chow-type maximal inequality for conditional demimartingales and its applications. Chinese Annals of Mathematics, Series B, 2015, 36(6):957-968.

CaiYin Mu, School of Mathematics and Statistics, Northwest Normal University, Lanzhou, China, Mobile 86-15294207365.

DeCheng Feng, School of Mathematics and Statistics, Northwest Normal University, Lanzhou, China.

Ruijie JIA, School of Mathematics and Statistics, Northwest Normal University, Lanzhou, China.